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QID : 1 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select ‘No Error'.

Playing sports and doing any form (1)/ of physical activity can trigger (2)/ the production of endorphins. (3)/ No error (4)
Options:

Correct Answer: 4
Candidate Answer: 1

QID : 2 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select '‘No Error'.

During the later 19th and early 20th centuries, (1)/ forest preservation programmes were established (2)/ in British India, the United States, and Europe. (3)/ No error
4

Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 3

QID : 3 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

She was miserable she didn’t tell him.

Options:

1) in

2) but

3) while

4) with

Correct Answer: but
Candidate Answer: but

QID : 4 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

Despite his pleas, she looked
Options:

1) on

2) to

3) around

4) through

Correct Answer: through
Candidate Answer: to

his insincere apologies.

QID : 5 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Cogent

Options:

1) Invalid

2) Effective

3) Inconclusive

4) Unlikely

Correct Answer: Effective

Candidate Answer: [ NOT ANSWERED ]
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QID : 6 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Precedence

Options:

1) Uprise

2) Insignificance

3) Present

4) Priority

Correct Answer: Priority
Candidate Answer: Priority

QID : 7 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Exorbitant
Options:

1) Expensive
2) High

3) Cruel

4) Modest

Correct Answer: Modest
Candidate Answer: Expensive

QID : 8 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Gratify

Options:

1) Satisfy

2) Enchant

3) Disappoint

4) Pamper

Correct Answer: Disappoint
Candidate Answer: Satisfy

QID : 9 - Rearrange the parts of the sentence in correct order.
When the

P : demonstrate that these are wholly inhuman

Q : state identifies some practices

R : as incompatible with the ‘civilised’ norms, it must
Options:

1) PQR

2) QRP

3)RPQ

4) QPR

Correct Answer: QRP

Candidate Answer: [ NOT ANSWERED |

QID : 10 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Kiara must deliver the needles.

Options:

1) The needles must be delivered with Kiara.

2) The needles must be delivered by Kiara.

3) The needles should deliver by Kiara.

4) The needles are delivered by Kiara.

Correct Answer: The needles must be delivered by Kiara.

Candidate Answer: The needles must be delivered by Kiara.

QID : 11 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

The principal said, “l want to meet her parents.”
Options:

1) The principal wanted to meet her parents.

2) The principal said that he wants to meet her parents.
3) The principal said that he wanted to meet her parents.
4) The principal asked if he could meet her parents.

Correct Answer: The principal said that he wanted to meet her parents.
Candidate Answer: The principal said that he wanted to meet her parents.

QID : 12 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.



Options:

1) Encouragement
2) Ancouragement
3) Encouragemant
4) Encourragemaent

Correct Answer: Encouragement
Candidate Answer: Encouragemant

QID : 13 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The masses of people accept the most absurd ideas truth, providing they are gravely asserted by some one claiming authority. The most illogical ideas are
accepted dispute or examination, providing they are stated solemnly and . Particularly in the respective fields of religion and politics do we find
this blind of illogical ideas by the multitude. Mere assertion the leaders seems sufficient for the multitude of followers to acquiesce.

absurdideas ________ truth, providing
Options:

1) as

2) like

3) such

4) just

Correct Answer: as

Candidate Answer: just

QID : 14 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The masses of people accept the most absurd ideas truth, providing they are gravely asserted by some one claiming authority. The most illogical ideas are
accepted dispute or examination, providing they are stated solemnly and . Particularly in the respective fields of religion and politics do we find
this blind of illogical ideas by the multitude. Mere assertion the leaders seems sufficient for the multitude of followers to-acquiesce.

ideas are accepted _______ dispute or examination,
Options:

1) within

2) not

3) without

4) by

Correct Answer: without

Candidate Answer: without

QID : 15 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The masses of people accept the most absurd ideas truth, providing they are gravely asserted by some one claiming authority. The most illogical ideas are
accepted dispute or examination, providing they are stated solemnly and . Particularly in the respective fields of religion and politics do we find
this blind of illogical ideas by the multitude. Mere assertion the leaders seems sufficient for the multitude of followers to acquiesce.
solemnlyand . Particularly in the

Options:

1) authoritatively

2) authoritative

3) authority

4) authorities

Correct Answer: authoritatively

Candidate Answer: authority

QID : 16 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The masses of people accept the most absurdideas _______ truth, providing they are gravely asserted by some one claiming authority. The most illogical ideas are
accepted dispute or examination, providing they are stated solemnly and . Particularly in the respective fields of religion and politics do we find
this blind of illogical ideas by the multitude. Mere assertion the leaders seems sufficient for the multitude of followers to acquiesce.

find this blind of illogical ideas

Options:

1) acceptance

2) accept

3) acceptor
4) acceptant

Correct Answer: acceptance
Candidate Answer: acceptance



QID : 17 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The masses of people accept the most absurd ideas truth, providing they are gravely asserted by some one claiming authority. The most illogical ideas are
accepted dispute or examination, providing they are stated solemnly and . Particularly in the respective fields of religion and politics do we find
this blind of illogical ideas by the multitude. Mere assertion the leaders seems sufficient for the multitude of followers to acquiesce.

Mere assertion the leaders seems
Options:

1) with

2) by

3)to

4) at

Correct Answer: by

Candidate Answer: to

QID : 18 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Fire the imagination

Options:

1) Do something unbelievable.

2) To destroy a person's dreams or ambition by giving discouraging advice.
3) To make someone feel very interested in something and excited about it.
4) Advice someone to be more practical in an effort to tackle a problem.

Correct Answer: To make someone feel very interested in something and excited about it.
Candidate Answer: [ NOT ANSWERED ]

QID : 19 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Pulling your leg

Options:

1) To create trouble for others.

2) To succeed by making others fail.

3) To trick or lie to someone in a playful way.
4) To beg for a favour.

Correct Answer: To trick or lie to someone in a playful way.
Candidate Answer: To succeed by making others fail.

QID : 20 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A deep cut or tear in skin or flesh
Options:

1) Laceration

2) Termination

3) Cessation

4) Desistance

Correct Answer: Laceration
Candidate Answer: Desistance

QID : 21 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Barely sufficient or adequate
Options:

1) Scant

2) Deluge

3) Plethora

4) Surfeit

Correct Answer: Scant

Candidate Answer: Deluge

QID : 22 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement".

| worry that social media (is killing) creativity.
Options:

1) is killed

2) are killed

3) was kills

4) no improvement

Correct Answer: no improvement
Candidate Answer: no improvement

QID : 23 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement”.

Partition (has been billed) as a distressing phase in the subcontinent’s history.



Options:

1) have been billed

2) has being billed

3) has been bill

4) no improvement

Correct Answer: no improvement

Candidate Answer: no improvement

QID : 24 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

When we use our

A-beauty to group others, we
B-personal standards for
C-promote a kind of apartheid

Options:

Correct Answer: BAC
Candidate Answer: BAC

QID : 25 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) incommunicabal

2) incommunicable

3) incomunicable

4) incomunicabal

Correct Answer: incommunicable
Candidate Answer: incommunicable

QID : 26 - In the following question, select the related word pair from the given alternatives.
Tyre:Car::?:?

PrefarR e & Ry g Riced! § & Geifdid wrsa g 1 gAY

ufgar . md::2:?

Options:

1) Cart : Tyre

3y ufgan

2) Clock : Arc

i 1]

3) House : Room

Y AT

4) Chapter : Book

ST : Gdh

Correct Answer: Chapter : Book
A : J&Ich

Candidate Answer: Cart : Tyre

3 : ufgar

QID : 27 - In the following question, select the related number pair from the given alternatives.

Options:

1)31:93

2)23:75

3)29:95

4)13:45

Correct Answer: 31 :93
Candidate Answer: 23 : 75

QID : 28 - In the following question, select the related letter/letters from the given alternatives.
GPQ:ENO::LNM:?
fafafea vy § Ry 7 el & @ H6fda srar/sreri @t gl

GPQ:ENO::LNM:?



Options:

1) IKJ

2) JLK

3) MON

4) OQP

Correct Answer: JLK
Candidate Answer: OQP

QID : 29 - In the following question, select the odd word from the given alternatives.

fafafea vy 7 Ry 7 et & @ v e ot gfg)
Options:

1) Waterfall

AT

2) Aquarium

Kesiton

3) River
&

4) Sea
Nk

Correct Answer: Aquarium

Candidate Answer: Aquarium

QID : 30 - In the following question, four number pairs are given. The number on left side of (=) is related to the number on the right side of (-) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given options.

A g Qv F, IR T g R g €1 (—) 3 Irff iR & Tee (-) & arff ok &) 1 e @ fonelt ach/ o @ wwida &1 < 3t gen adh/ w3 onaR W TAE €1 Ry g et
# O A gl

Options:

1) 62 - 60

2)74-70

3)18-16

4)34-32

Correct Answer: 74 — 70

Candidate Answer: 18 — 16

QID : 31 - In the following question, select the odd letter/letters from the given alternatives.

freafafEa vy 8§ Ry g faered 3 & foww srer/siert & g

Options:
1) VUTS
2) RQPO
3) NMKJ
4) IHGF

Correct Answer: NMKJ
Candidate Answer: [ NOT ANSWERED ]

QID : 32 - From the given alternatives, according to dictionary, which word will come at LAST position?

1. Expiration
2. Expertise
3. Exposing
4. Exposed
5. Explosion

g 7Tq faehedt A 9, AeaehlST & SR, S 4T ATea JHfH W R Sm?

1. Expiratio

2. Expertise

3. Exposing

4. Exposed

5. Explosion

Options:

1) Expiration

2) Explosion

3) Exposed

4) Exposing

Correct Answer: Exposing
Candidate Answer: Exposed



QID : 33 - In the following question, select the missing number from the given series.
91, 73, 164, 237, 401, ?
fafafea vy 8 Ry 7 et & @ g sfe 1a s

91,73, 164, 237, 401, ?
Options:

Correct Answer: 638
Candidate Answer: 638

QID : 34 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
HY, JV, LS, 2, PM
ek eRH foam man 8, Ores @ uak ue g &1 Ry e feedt & § a8 9@ ferey g, it srerd &t @1 k|

HY, JV, LS, ?, PM
Options:

1) MP

2) NP

3) MN

4) PK

Correct Answer: NP
Candidate Answer: MP

QID : 35 - The ratio of the present ages of Piyush and Bharat is 11 : 13. 15 years ago, the ratio of ages of Piyush and Bharat was 17 : 21. What is the present age (in
years) of Piyush?

YII T ¥R &l G g ot SIUTd 11 2 13 €115 af g, dIgW qm +Ra &t 311 ol SguTd 17 : 21 411 YIgW <l adam o1y (aut #) R 872
Options:

1) 66

2) 63

3) 51

4)78

Correct Answer: 66

Candidate Answer: 51

QID : 36 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Commissioner
fq 7 feched! & @ @ 21ea GG S FAQ 1Y 216a & &R o1 TN Shech @1 ST ST Fehd 8|

Commissioner

Options:

1) Common

2) Some

3) Miss

4) Trainer

Correct Answer: Trainer

Candidate Answer: Common

QID : 37 - In a certain code language, “INDUCE” is written as “MRHYGI". How is “DEFECT” written in that code language?

U fafre wis o &, “INDUCE” &t “MRHYGI” foraT STTa €1 59 shts owT § “DEFECT” &t fohg wepR forar sirgem?

Options:

1) XGIRIB
2) BLKTKC
3) HIJIGX
4) RFGAGB

Correct Answer: HIJIGX
Candidate Answer: RFGAGB

QID : 38 - In a certain code language, '+' represents '+, - represents ‘X, '+ represents =" and 'x’ represents -'. Find out the answer to the following question.
9+4-30+10x13="?
fordt Rfgd ls W & '+, '+ I UeRIT ARAT 8, -, 'x' i UeiRid PaT g, '+, '+ &l Uefd w1 & 3R X, - ot Uefid oar &1 Fafafad usr o SR I &Rl

9+4-30+10x13=7?



Options:

1) 46

2)8

3)30

4) 49

Correct Answer: 8
Candidate Answer: 30

QID : 39 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
8-4+25+12x2=1
freafofea aefteeor Tad &1 59 SHeRRuT ot Gl e & forg o &l gl &t oo & Sreet-agelt et anfeg?

8-4+25+12x2=1

Options:
1) + and x

+ 3R x
2) +and -
+afR-

3)+and +
+ .

4)-and +
- 3R+
Correct Answer: + and -

Candidate Answer: + and +
+ 3R+

QID : 40 - If 11*8 = 6, 19*7 = 24 and 14*6 = 16, then find the value of 12*9 = ?

afd 11*8 = 6, 19%7 = 24 3R 14*6 = 16, dt 12*9 T A ITd R
Options:

1)18

2)12

3)8

4)6

Correct Answer: 6

Candidate Answer: 12

QID : 41 - Which of the following terms follows the trend of the given list?
ZWXYXYXY, XWZYXYXY, XYZWXYXY, XYXWZYXY, XYXYZWXY,
frafafea # 8 i a1 v & el gt & o & SrgaR 67

ZWXYXYXY, XWZYXYXY, XYZWXYXY, XYXWZYXY, XYXYZWXY,
Options:
1) XYXYXYXY

2) ZWXYXYXY
3) XYXYXWZY

4) XWZYXYXY
Correct Answer: XYXYXWZY
Candidate Answer: ZWXYXYXY

QID : 42 - Two taxis T and U start from the same stand. Taxi T travels 1 km South, then turns to its right and travels a further 3.5 km. Meanwhile taxi U travels 2.5 km
East, then turns North and travels 4 km, then it turns to its left and travels 6 km. Where is taxi U with respect to taxi T?

3} efRmat T iR U uan & We @ Farerdt €1 et T afgror faam & 1 6.+t < amam et &, foR oo @1fgt ofik g St @ ofik ot 3.5 ot st @1 s e U gd Ramd 2.5
TRt <t I heelt 8, oA ST & 7 St & ofiR 1t 4 fon. 7. &t arsm et 8, fOhe g STomich IRt STk JS STt & SfR 31t 6 foh. 7. <t am aneelt 81 el T o Safer & Eorit U gl 82
Options:

1) 3 km North

3 fRt S

2) 5 km South

5 o5 #ft. afaror

3) 5 km North

5 fon.ft. IR

4) 3 km South

3 fon. = feyor

Correct Answer: 5 km North

5fh.H. R

Candidate Answer: 3 km North
3 for . I



QID : 43 - In the question two statements are given, followed by two conclusions, | and . You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No plastic are polymers
Statement II: Some rubber are plastic

Conclusion I: Some polymers are rubber
Conclusion Il: All rubber are polymers

B St oy 33 T § s ot &t fsand | ofR 11 fRerret T &1 smueRt | & R g e I & 918 98 9T T1d 9 § 9 veitd gid g | et fofg s & i R g
fepet & @ H-a1/eH-8 R ®0 @ wu gRT &) FerTell ST TehdT /T 8, afe &S gt

YA |: B i iR iferR 7 gl &
HYA |I: TS TR @RS & &
st |: 3 diferR TR B &
s 11: T+t e wiferR g1 &

Options:
1) Only conclusion | follows

e (e | T8l §

2) Only conclusion Il follows
hae fAshY || 98t 8

3) Both conclusions | and Il follow
T fsen | SR 11 Tt &

4) Neither conclusion | nor conclusion Il follows

1 at frreenef | Tt & 1 €1 fsene |1

Correct Answer: Neither conclusion | nor conclusion Il follows

1t frreenef | Tt & 1 €1 s |1

Candidate Answer: Only conclusion | follows

hae ey | T8l &

QiD: 44-

In the following figure, rectangle represents Event planners, circle
represents lllustrators, triangle represents Gamers and square
represents Indians. Which set of letters represents Event planners
who are Gamers?

R AR, 9 FARE P @ i e ¢,
gl GARSEd ) WeRia &t &, P ot @ sefil e ¥
3t ot st # wella St g1 yeRl & &l 9 5 3
T e @ veflie & darde &

K G

palAm
e |\°o] "

Options:
1) BE

2) KAB
3)B

4) AD
Correct Answer: B
Candidate Answer: AD

QID : 45 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
XQC, UNZ, RKW, OHT, ?
Qe 1R fom T &, o § Uk e e &1 Ry g Rt § @ 9w Wt fieed g, St orgehA Y @@ wd

XQC, UNZ, RKW, OHT, ?



Options:

1) LFP

2) MED

3) LEQ

4) MFQ

Correct Answer: LEQ
Candidate Answer: MFQ

QID : 46 - In the following question, select the missing number from the given series.
57, 52, 45, 36, 25, ?
feafafea vy 8 Ry 7 et & @ g of 31a i

57,52, 45, 36, 25, ?
Options:

1) 14

2)12

3)15

4)17

Correct Answer: 12
Candidate Answer: 12

QID : 47 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

12 g 7 e F, i Te@meii & R 9qg Ry 7 &) ude agg § gt T et T ugeh) T © faneft ues adh/fam @ wwfda 1 i I3 e adh/fem & snar R me &1 Ry
T feedt & @ 9= @t gl

Options:

1) (13,25,51)
2)(17,33,67)
3) (10, 19, 39)
4) (7,13,29)

Correct Answer: (7, 13, 29)
Candidate Answer: (17, 33, 67)

QID : 48 -

If a mirror is placed on the line MN, then
which of the answer figures is'the right
image of the given figure?

g v gqor @ MN T@1 9% 3@r S ar &
T Sea AHIAEt A F Fler-dl anehla e
e 1w wiafewa geir?

"




Options:
1)

2)
V]
3)
Al
4)
N
Correct Answer:

4

Candidate Answer:

Vi




QID: 49 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frefaf@a 3w ampfa & & &7 ar a7 Ry

AT G IPIa 7§ o g F FAAT Al
ST HehAT?

+ |H|O]X

Options:

1)

0
T

2)
>
O X
3)
>
9
2)
o
X O

O

Candidate Answer:

9

s\

X




QID : 50 -

Aword is represented by only one set of numbers as given in any one of the alternatives, The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its
column, for example ‘D' can be represented by 24, 41 etc and 'T' can be represented by 96, 87 etc.
Similarly, you have to identify the set for the word 'GASH.

Th UG Hae U HEA-THE Ga G e g, o R fawed A & el 0w A
foan o 1 fawet # fow a0 Hew-wog 3wt & & ool qaw qfiv aw § S
fow arw 2 ameggt # 81 segp-l % www A o B FE 0§ 4 AR el
5% 9 8 3 WeqE A UF FEW F gl I O HN @ A T e g
guffar T Faan &1 3gERor & QU D A 24, 41 3R gEw g @ wwa ¥ oaw
T # 96, 87 HfE G @ 71 FFA 7l @ T & R 0T A RU o
GASH' & fa @ &1 TFare &l

Matrix | Matrix 1l
IR -1 TEgE -1
0 1 2 3 L] 5 ] 7 8 9
0 c | G D K M 5 P a u W R
1 I | B L H | B 6 P zZ [V P W
2 K B L B D 7 ] X a X v
3 | A C D E 8 v o] T N R
4 L o G A E 9 P T u 5 Y
Options:
1) 23,75,44,88
2) 42,43,98,13

3) 14,95,13,58

4) 11,78,20,87
Correct Answer: 42,43,98,13
Candidate Answer: 23,75,44,88

QID : 51 - || P
The value of [:0.1 758 + 0.3041} is .

(0.1759+0.2041) &1 =T &l

Options:
1)
0.4802

2
0.4801

3)
0.4701

4)

0.4811

Correct Answer:
0.4801
Candidate Answer:

0.4701

QID : 52 - If doubling a number and adding 16 to the result gives the same number as multiplying the number by 6 and taking away 4 from the product, then find the
number.

IfE Teh T & G § 16 Siie tR uRUIms g} sirar & Y St AT hl 6 @ AT e & 4 g WR 31T 8, af T Ard HifS |
Options:



Correct Answer: 5
Candidate Answer: 4

QID:53-
jf YX+5+4fx
JEr B

=5 then find the value of x'.

Vx+=5+4x "
m=5 &, dr X & AT AT S

Options:
1)1

2)2
3)3

44
Correct Answer: 4
Candidate Answer: 2

QID:54-
If 843 -T2
J108 = 50

=a+ bJB_ , then find the value of iTa .

643 + 72 8
afe m:,a\_bﬁ 3 a’rf & A A it

Options:
19

2)19
3)38

4) 42
Correct Answer: 19
Candidate Answer: 9

QID : 55 - If the supplement of an angle is (5/2) of its complement, then find the angle.

I Yk RI0T T —GAAT-Ueh Sh THYReh o (5/2) & qt Il &1 719 F1d hifeid|
Options:

1)

10°

2)

15%

3)

20°

4)

30°

Correct Answer:
30°

Candidate Answer:
20°

QID : 56 - If the sides of a triangle are in the ratio 9:6:4, then the triangle is said to be .

& Gk BT & SISl o1 3rguTd 9:6:4 & Y 9 BST i ____ gt STt 8

Options:
1) right angled
FHehIOT

2) obtuse angled
3f ahror

3) acute angled
A YT

4) All are incorrect
goft 7 §

Correct Answer: obtuse angled

31fAres aioT

Candidate Answer: right angled



QID : 57 - Puneet scored 10% marks in an exam and failed by 50 marks. If he scored 40% marks, then he gets 25 marks more than passing marks. What is the
passing marks for the exam?

G A o Tdte | 10% Sieh UTed fohg aT 50 Siel § Srg=iot g1 a1 A a8 40% Sieh UTed el g, o 3§ 30T Siehl § 25 Sfer S1fdes T 81d & | Ikte o forg it sies i 82
Options:

1) 250

2) 200

3) 150

4)75
Correct Answer: 75
Candidate Answer: 250

QID : 58 - A bag contains 10 rupees, 2 rupees and 1 rupee coins. The value of 10 rupees, 2 rupees and 1 rupee coins are in the ratio of 15: 8 : 1 respectively. If total
number of coins is 273, then what will be the total value (in Rs) of all coins?

U I F 10 3, 2 Tud qT 1 3ud & ¥k €110 30, 2 393 Ju1 1 39 & fRycrent ol Je shen: 15 : 8 ¢ 1 & 1UTd A g1 afe Renl i ot Teeam 273 &, ot aoft Ryl o1 et goo
(% #) Fam grm?

Options:

1) 1008

2) 924

3) 1102

4) 1218
Correct Answer: 1008
Candidate Answer: 1218

QID : 59 - Vipin adds 3 litres of liquid A in 6 litres of liquid B and Mohit adds 8 litres of liquid A in 15 litres of liquid B. What is the ratio of the percentage of liquid B in
the two mixtures?
faft 6 +fiex a=eT B # 3 fier a=eT A ficra & o Aifgd 15 #fiex a=e B # 8 #fiex a=et A freran &1 Q41 fAsort # et B & wfaisid et i Sigurd 87

Options:

1) 26:25

2)51:32

3) 46:45

4)34:25

Correct Answer: 46 : 45
Candidate Answer: 51 : 32

QID : 60 - Average of 9 consecutive natural numbers is 41. What is the largest among these numbers?

9 SRHTTA UTehfach TeeaTail aht it 41 &1 3 Teereil & § qad o<t T R e?
Options:

1)37

2) 44

3) 46

4) 45
Correct Answer: 45
Candidate Answer: 46

QID : 61 - At the rate of 12.5% per annum, the simple interest on a sum is 5/4 of the principal. What is the time period (in years)?

e AfA TR 12.5% i aTfieh & & AILRUT &1ST JeAeH Gl 5/4 & | G99 @iy (qut #) a1 872

Options:

1)12.5

2)8

3)10

4)15

Correct Answer: 10
Candidate Answer: 8

QID : 62 - If the cost price of a table is 62% of the selling price, then what is the profit percentage?

If& Toh AT ol ohd e, farehd Ted et 62% &, af @ UfaiRid 3T 82



Options:
1) 43.42

2)37.45
3)61.29

4) 71.35
Correct Answer: 61.29
Candidate Answer: 61.29

QID : 63 - The marked price of a trouser is Rs 3510. The shopkeeper allows a discount of 40% and gains 17%. If no discount is allowed, then what will be the profit
percentage?

Qeh Udeld ol Sifchd e 3510 % 81 GaMGR 40% hl Pe a1 8 a7 17% AT HATAT & | IS el e A & 15 81, af o ufawrd am ghm?

Options:
1) 63.8

2)95
3)85

4)74.6
Correct Answer: 95
Candidate Answer: 74.6

QID: 64 -
416 + 4625 L
oEg

What is the value of

316 + /625

N" VT AW F R

~/256

Options:

Correct Answer: 1.75
Candidate Answer: 1.75

QID : 65 - M takes 60% more time than N to complete a wall. If together they complete the wall in 24 days, then how many days will N alone take to complete it?

M Uk &R &1 g1 &t B N & 60% S1fdres 7 ofeT &1 afe 3 fierene 39 dlar &t 24 A & g aed €, ot N sidhet 38 Q1 et # foneat et avm?
Options:

Correct Answer: 39
Candidate Answer: 42

QID : 66 - A boy is driving car at the speed of 42 km/hr. He stops for 8 minutes at end of every 11 km. What will be the time (in minutes) taken by him to cover a
distance of 84 km?

ek g et 42 .t /ger di iy @ ger met T 81 &1 98 udes 11 TRt & ofd WR 8 fimie & ford wonan 81 84 5.t i T aa oA & g a8 o= wov (e &) dm?
Options:

Correct Answer: 176
Candidate Answer: 138



QID: 67 -

The line graph shows the average hours per day spent
by teenagers watching TV. Study the diagram and answer
the following questions.

g Y@ s gffar & & fRuRt ganr ufafea &dr
Esr & fov g frae o¢ fSaa &1 59 3ma &
e &Y 3R Reafef@ag gweat F 3caw )

Average hours/day spent watching TV /
e g & A T e ar ahaRE

iz 14 16 18 20

Age/3H

In which age do teenagers spend the least number of hours watching TV?

for 3g & fahaik &t ot 3 & T o wE fara 2

Options:
1)17

2)15
3)13

4)18
Correct Answer: 13
Candidate Answer: 13



QID: 68 -

The line graph shows the average hours per day spent
by teenagers watching TV. Study the diagram and answer
the following questions.

g Y@ s gffar & & fRuRt ganr ufafea &dr
Esr & fov g frae o¢ fSaa &1 59 3ma &
e &Y 3R Reafef@ag gweat F 3caw )

Average hours/day spent watching TV /
e g & A T e ar ahaRE

iz 14 16 18 20

Age/3H

What is the ratio of hours per day spent in watching TV by 14 year olds and 18 year olds?

14 a9 & S<di 3R 18 9 & aedl gRT Ufdfea &t 3 # foard T Hef &t srguTd o 872

Options:
1)7:3

2)3:7
3)5:7

4)7:5
Correct Answer: 3 :7
Candidate Answer: 7 : 3



QID: 69 -

The line graph shows the average hours per day spent
by teenagers watching TV. Study the diagram and answer
the following questions.

g Y@ s gffar & & fRuRt ganr ufafea &dr
Esr & fov g frae o¢ fSaa &1 59 3ma &
e &Y 3R Reafef@ag gweat F 3caw )

Average hours/day spent watching TV /
e g & A T e ar ahaRE

iz 14 16 18 20

Age/3H
The number of hours per day spent in watching TV is more by 17 year olds as compared to 15 year olds.
15 a9 & <l & goraT # 17 I st g1 afafe &t &t A famd € ol dwen 9 JfIw 31
Options:
1) 25%
2) 20%
3)16.7%
4) 30%

Correct Answer: 25%
Candidate Answer: 25%



QID:70-

The line graph shows the average hours per day spent
by teenagers watching TV. Study the diagram and answer
the following questions.

Tg Y@ W gfar § F Rt ganr wfdfe e
¢u=r & four 3iua s g9¢ ag §1 59 3@ &
T HY IR Arafaf@a weat & 3Icat g1

Average hours/day spent watching TV /

et g # e i stwa weofafes

Age/[3H

How many hours does a 16 year old spend watching TV in a week?

16 a9 o S=d Qeh HiTg A Sl 3@ & fog foh €2 @< ohead 2

Options:
1) 25.5

2)25
3) 21

4)22.5
Correct Answer: 21
Candidate Answer: 25

QID : 71 - The area of an equilateral triangle is 9v3 cm?. Find its side (in cm).

Ueh GHaTg ST ol &thet 9v'3 a7t AHteR &1 3T ot (HEeR #) 1 &
Options:

1)3

2)6

3)12

4)18

Correct Answer: 6

Candidate Answer: 3

QID : 72 - The area of a circle is 38.5 cm?. Find its diameter (in cm).

eh g1 T &5thet 38.5 a7 TEriex &1 3%ent ey (Hhier ) Ard i
Options:

1)7

2)14

3)10

4)20

Correct Answer: 7

Candidate Answer: 10

QID : 73 - Find the total surface area (in cm2) of a hemisphere of diameter 7 cm.

7 GéHier T8 a1t Uk SIgiet & g I el St (it Tértex H) T i

Options:

1) 105.5

2) 99

3)77

4)115.5

Correct Answer: 115.5



Candidate Answer: 115.5

QID : 74 - AXYZ is right angled at Y. If m£Z = 30°, then find the value of (cosX - 1/v3).

AXYZ B Y TR GHHT &1 afe m2Z = 300, dt (cosX - 1/v3) &1 A9 A1 R
Options:

1)3/2

2) 1-v2

3) (4-v3)/2v3

4) (V3-2)/2V3
Correct Answer: (v3-2)/2v3
Candidate Answer: (4-v3)/2v3

QID : 75 - In AABC measure of angle B is 90°. If sinA = 15/17, and AB = 0.8cm, then what is the length (in cm) of side BC?

AABC ¥ el B a1 /19 90° &1 afe sinA = 15/17 3fR AB = 0.8 §&ftex &, dt o[ai1 BC &Y sfad (Féhfiex #) ar 82

Options:

115

2)1.7

3)2

4)25

Correct Answer: 1.5
Candidate Answer: 2.5

QID : 76 - Participatory Notes (PNs) are associated with which one of the following?

qfERted ey (PNs) Ffofaa # @ forg @ eifda 87

Options:

1) Consolidated Fund of India

R FY TRfha fAfd

2) Foreign Institutional Investors

faraft e Fderes

3) United Nations Development Programme
T Y e

4) Unemployment Related Index

Correct Answer: Foreign Institutional Investors
frRaft e Fasrs

Candidate Answer: United Nations Development Programme
BESRUAEEIS]

QID : 77 - In which of the following years was the Food Corporation of India (FCI) set up?

Pt 8§ € fhg oy § YR @ 3w (FCI) wenfud frar mar ar?

Options:
1) 1955

2) 1960
3) 1965

4) 1970
Correct Answer: 1965
Candidate Answer: 1970

QID : 78 - The word monsoon refers to

ATYH TeE T AT gl

Options:

1) blowing of wind in one direction always
EaTSl T H&d Gk B 3R J8T

2) blowing of wind swiftly

garsil T gd doht ¥ FgAT

3) blowing of wind slowly

ganail o1 sga it 1fa & s

4) Changing direction of winds

FaTSTl & 3@ ol ageT

Correct Answer: Changing direction of winds
FaTSTl & I oAl ageAT

Candidate Answer: blowing of wind swiftly

garsil T Igd doht ¥ FgAT



QID : 79 - Which of the following cities is NOT situated on the bank of river Ganga?

frfafed & & e-a1 TR T 7E & 9 R A Td 82

Options:
1) Kanpur
hTTYR

2) Patna
e

3) Varanasi

4) Lucknow
[SECEIY

Correct Answer: Lucknow
[SECEy

Candidate Answer: Kanpur

YR

QID : 80 - Which of the following Harappan sites used mud-bricks in ample for the construction of houses?

frafafea & 9 forg sl e & wa= fAmfor & forg et et ot wahT sgaraa § forar mmam om?
Options:

1) Mohenjodaro

Aigeiag!

2) Harappa
gsur

3) Kalibanga
Eacico

4) Chanhudaro

Correct Answer: Kalibanga

Candidate Answer: Mohenjodaro

QID : 81 - Which of the following newspapers is NOT related to Madan Mohan Malaviya?

fFafofea & 9 Fi9-a1 TIER-ux e Higd arerdia § d6fda T8 82
Options:

1) Leader

e

2) Comrade

RS

3) Hindustan

4) Abhyudaya
SR

Correct Answer: Comrade

Candidate Answer: Comrade

QID : 82 - Who is considered the real founder of Jainism?

S of o1 g faes GeaTue fhe AT ST 82

Options:

1) Parshwanath
BIEEIDS

2) Rishabhdev
Eapce)

3) Neminath
ATy

4) Arishtanemi
IREAA

Correct Answer: Rishabhdev
FUWRT

Candidate Answer: Rishabhdev
FINST

QID : 83 - The 7" International Ground Water Conference was hosted by which country from December 11-13, 2017?

73 SITRRTEI o el TR BT STt R 321 7 11-13 R&er, 2017 it fovar ar?



Options:
1) China
=

2) India

HRT

3) South Africa
EferoT srvhienr

4) Australia

Correct Answer: India
HRd

Candidate Answer: India
HRd

QID : 84 - Which film was awarded the best film in the international film competition category at the 23 Kolkata International Film Festival (KIFF) that concluded in
November 20177

TdeR 2017 & o 239 icrerran SIaRfERT fthew Agleaa (KIFF) & Siarfgt fthen et sioft & sianfa fore fohew ot wdsis fhew o1 qreenr fem?

Options:

1) Los Perros
2) Swan

LI

3) Kupal
pUTe

4) Birds are singing in Kigali
9T IR fHfiiT 57 fommreft

Correct Answer: Los Perros

Candidate Answer: Swan
@ A

QID : 85 - In which year Pakistan became a federal republic?

uTfehed fohg gret Ueh Ty TORTST §=1?

Options:
1) 1948

2) 1956
3) 1971

4) 1975
Correct Answer: 1956
Candidate Answer: 1948

QID : 86 - Which of the following element has highest electronegativity?

frfafed 7 & &9 91 9 Faffie fgd Fomd 82

Options:
1) Fluorine

2) Sodium

aifegq

3) Chlorine

FAR

4) Oxygen

SferdfterT

Correct Answer: Fluorine

Candidate Answer: Sodium

QID : 87 - Bohr's model is related to which of the following?

gz Ated Ffafea & & o defda 82
Options:

1) Plum pudding model

o gfen Rgia

2) Nuclear theory

rfweha Rgia

3) Concept of quantization of energy
Seif & ufemTofienzor & sraemRoT

4) Dual nature of electron

Sl 1 gt



Correct Answer: Concept of quantization of energy
Fot & &I raeRom

Candidate Answer: Concept of quantization of energy

Fott & URATUfieRoT &t SrgeRon

QID : 88 - Which among the following comes under Union List of Indian Constitution?
|. Defence

II. Inter-state Trade and Commerce

Il. Banking
fafafed # § &9 Rt i & da g2t & sfarfa smar/smd 8/8?

. T&m

1. SiaRfsf emR o arforsg
I, ST

Options:

1) Only |

hae |

2) Only Ii

haet Il

3) Bothland Il

g I FT Il

4) All'l, 1l and 11l

I, 1@ [ gf

Correct Answer: All |, Il and IlI
I, 1l @ 11 gf

Candidate Answer: All |, [l and 11l
I, 1@ 1 gf

QID : 89 - In India, Financial Emergency can be extended for how much maximum duration?

IRd 8, fo<hia smurdenter sifderas forat saf®r & o srerar S gehar &7

Options:

1) Six months
ERRI

2) Nine months
et

3) Two years

4) Indefinite period
SifAfgaere
Correct Answer: Indefinite period

Candidate Answer: Indefinite period

QID : 90 - The process in which the organism can be cut into any number of pieces and each piece grows into a complete organism is called

Ig ufshan fOIEH Ues S 3k gahel B dhIeT ST ehdT & a1 U gahel Y Siid & AR gl ST g, sl &1
Options:
1) Regeneration
GTRegad
2) Budding
Hpotd
3) Spore formation
SiTTo] ST
4) No option is correct.
T8
Correct Answer: Regeneration
qTRgaT
Candidate Answer: Budding
Hpoid

QID : 91 - Which meristem increases the length of the stems and the roots?

A T fRregiach a4t quT sTel &l <fas & gfeg e &2

Options:
1) Apical meristem

sfiefzer fyersatas

2) Lateral meristem
qr

3} Intercalary meristem

4) Nodal meristem



Correct Answer: Apical meristem

sfiefer fersatas

Candidate Answer: Intercalary meristem

Ifafde frrsaidas

QID : 92 - In December 2017, the scheme named ‘PMVVY’ was launched. It aims to provide social security during old age. What is the limit of maximum purchase
price under this scheme?

fegmar 2017 ¥, ‘drqadidiars’ A aieT At 6 718 off | THT I ggrawen & TSI R&M Tald T § | 39 AT o SHdiid SHfchas @ie Jod ol WaT o 82
Options:

1) Rs 5,00,000

5,00,000 %

2) Rs 7,50,000

7,50,000 %

3) Rs 10,50,000

10,50,000 &

4) Rs 12,50,000

12,50,000 &

Correct Answer: Rs 7,50,000
7,50,000 %

Candidate Answer: Rs 7,50,000
7,50,000 %

QID : 93 - Which type of battery is used in world’s first fully electric cargo ship launched by China?

T gR1 ARt sy & Tad ugat guf faga AreiaTe STere & fohd UehR Y dedt ot Ui fomar T 82

Options:
1) Zinc-carbon battery
fSien-aprel et

2) Lithium-ion battery
frfm-3mas S

3) Zinc-air battery
fSiep-TaR et

4) Lead-acid battery
GERYEEE

Correct Answer: Lithium-ion battery
-3

Candidate Answer: Zinc-carbon battery

ISCEACRE

QID : 94 - In January 2018, Atal Pension Yojana (APY) crossed 80 lakh subscribers. What is the maximum amount of monthly pension the beneficiary can get under
APY?

St 2018 #, Sieet U AT (Ttars) = 80 g UTgahi ot IR fohar &1 Tehiars o siaria el sifdieram w1fes g <t fohe =it A1fRY e o Fepat &7
Options:

1) Rs 4000

4000 %

2) Rs 5000
5000 &

3) Rs 10,000
10,000 %

4) Rs 15,000
15,000 %

Correct Answer: Rs 5000
5000 %

Candidate Answer: Rs 10,000
10,000 %

QID : 95 - On 27 January 2018, the Ministry of Electronics and Information Technology launched which initiative for Women Health and Hygiene?

27 et 2018 I, FFI-ET dT o Henficht wsmer 3 Afgen @ qe Wewar & forg S ft gt ateriia i 82

Options:
1) Stree Swabhiman

2) Mahila Swabhiman
Afger w@fHEe

3) Nari Swabhiman
AR F@HEE

4) Nari Shakti
IR 2R

Correct Answer: Stree Swabhiman

Candidate Answer: Nari Shakti
IRt fh



QID : 96 - Calculate the time period (in seconds) of a sound wave of wavelength 3 m travelling with a speed of 300 m/s.

forelt eafy adar it qneed 3 wiex o A 300 Hez/Advs 1 3THT 1A HTeT (Tohe H) T AR
Options:

1) 900

2) 0.02

3) 450

4) 0.01
Correct Answer: 0.01
Candidate Answer: 0.01

QID : 97 - Sound is produced by objects.

af axgati & @ 3= gidll |
Options:

1) perpetual

gdd

2) uniform

ThgA™

3) stable

@R

4) vibrating
Caspic)

Correct Answer: vibrating
Cic

Candidate Answer: vibrating
SHUA

QID : 98 - constitute the biotic component of the biosphere.

___ Sfiaved & Sifdes gee &t a91d &1
Options:

1) Non-living and Living things
Fsita qer geiia axgq

2) Living things

ot axqq

3) Minerals

GIE ]

4) Atmosphere

argrsA

Correct Answer: Living things
BEIEEES

Candidatew Answer: Living things

ot aET

QID : 99 - Which of the statements given below are correct?

A) France hosted the 2017 World Team Chess Championship.
B) In 2017 Pro Kabaddi League, Amit Hooda played for Bengal Warriors.
C) In 2017, LeBron James played for the NBA team New Orleans Pelicans.

e dd s aTsm g &2

A) T 7 2017 g€ &9 ra<st A= 6t Asrart 6

B) 2017 & WY sharg! o1 & SAfAT g7 STt aTa™ o forg ||
C) 2017 & @si= S Gellg & =g sifeie Sefichwr & forg |t
Options:

1) Only B

haet B

2) Only C

Fad C

3) Both Aand B
A 3R B

4) No option is correct

I farehed Tt el ¢

Correct Answer: No option is correct

I farehed @t el ¢

Candidate Answer: No option is correct

I farehed @t el ¢

QID : 100 - In HTML, pair defines a cell and number of such pairs you use will define the number of cells your row is divided into.

TIETAT H, T T & forg & et fSia= vl e ST T ahed & 98 STUeh! Ufeh fohat el & favih g, ag g Faffa st



Options:
1)

<table></table>
2)

trE=tre
3)

=td==/td>
4

<th=</th>
Correct Answer:
=td=</td=

Candidate Answer:
trstre




